Algebra |
Blizzard Bag # 2

Directions: Complete the following review sheet from
Chapters 1 to 6. Be sure to show your work. You will
have 2 weeks to complete from the “Snow Day.” No
Late work will be accepted.

Enjoy!



NAME DATE _ PERIOD

6 Standardized Test Practice SCORE

(Chapters 1-6)
Instructions: Fill in the appropriate circle for the best answer.

1. Evaluate [1 + 4(5)] + [3(9)— 7]. (Lesson 1-2)
A 45 B27 c4l D 31 1.@@00

2. Rewrite 3{4a — 2b + ¢) using the Distributive Property. (Lesson 1-4)
Fl2a-2b+e¢ G12a-2b+3cH 12a—6b+c J12a—6b+ 3¢ 20000

3. How many liters of a 10% saline solution must be added to 4 liters of a 40%
saline solution to obtain a 153% saline solution? (Lesson 2-9)
A20L B4L C2L D48 L 3.6@00

4. When Nick was traveling in Montreal, the currency exchange rate between the
U.S. and Canada could be modeled by d = 1.02¢ where d represents the number
of U.S. dollars and ¢ represents the number of Canadian dollars. Solve the
equation for Canadian dollar amounts of $1, 82, 85, and $20. (Lesson 3-1)
F {(1.1.02), (2, 2.04), (5, 5.10), (20, 20.40)}
G {{1, 1),(2,2), (5, 5), (20, 20)}
H {(1, 0.98), (2, 1.96), (5, 4.9), (20, 19.61)}
3 {(1,2.02),(2,3.02), (5, 6.02), (20, 21.02)} .00

5. If a line passes through (0, —6) and has a slope of =3, what is the equation of the
line? (Lesson 4-2)
Ay==b6x=-3 Bx=-6y-3 Cy==-3x-6 Dx=-3y-0 5. A@EOO

6. If r is the slope of a line, and m is the slope of a line perpendicular to that line,
what is the relationship between r and m? (Lesson 4-4)

F There is no relationship. Hr=m

Gr=-—m .Ir=—;;- 6. @O
7. Which inequality does nof have the solution {f |t > 4}7 (Lesson 5-2)

A-1<—4 B3> 12 c:>2 D-:>-2 7. @000
8. Solved —2r = 3(5—r)+ T(r + 1). (Lesson 5-3)

. 3 . 9

I-[r|:-‘5a-z—] Glirlr<-=37 Hir|r<-2i J[r|r5a—;] 3. 000
9. Write a compound inequality for the graph, - —————

(Lesson 5-4) —4-3-2-1 01 2 3 4

Ax<-landx=2 Cxr==lorx>2

Bx<-lorx>2 Dx<-landx>2 9. AEOO
10. Evaluate x2 + 5{(yv — 3) when x = -3 and y = 14, (Lesson 1-2)

F 64 G 58 H 61 J29 0. 0000
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6 Standardized Test Practice (continueq)

11. Solve 8x — 5= 19, (Lesson 2-3)
AZ B-3 C3 D6

12. Solve —5 - E (Lesson 2-3)
F-6 Go HI12 J-12

13. Use the graph to determine how many solutions exist
for the system —4x + 3y =12 and x + v = 2. (Lesson 6-1)
AD C2
Bl D infinitely many

14. Use elimination to solve the sysiem 2x + y =—8 and —2x + 3y = -8 for x.
(Lesson 6-3)
F-2 G2 H -4 J4

15. The substitution method would be the best to use to solve which system of
equations? (Lesson 6-2)

ASx-Ty=8 Cix-3y=5
Zx+by=6 —2x+2y=-6

B3x+2y=8 Dx=4y+6
4x+3y=35 3x—2y=3

16. Which graph represents the solution of |n + 5| > 17 (Lesson 5-5)

F ot

G H O—0m

! —— iy e —
6-54-3-2-1012345 ——8-T-6-G-4-3-2-101 2
(v sy i J - C——
1012345678910 ~4-3-2-1012 34667

Part 2: Gridded Response

_ PERIOD _

1. PO

120000

BEEOE

4000

15. @00

16 @B O

Instructions: Enter your answer by writing each digit of the answer in a column
box and then shading in the appropriate circle that corresponds 1o that entry.

For Questions 17 and 18, determine the value that is missing.

17. The solution set 17.
is Inlnl_‘-‘lﬁ}fnr i 0
: ; va i
the inequality Ooooo
n-T= . (ool a oo in
& 08000
{Lesson 5-1) fj';(-l‘i_i‘:_)(!l
8 600 60
18.If |a — 8| =17, ’il'{?{f;‘@}_:'-
then a = or 2,900 0.0
9. (Lesson 2-5 0/6/00/0%0
@ = -9, (Lesson 2-5) £ & 0§
50000
Chapter 6 65

18.
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6 Standardized Test Practice (continueq)

Instructions: Write your answers in the space provided.

19. State whether the percent of change is a percent of increase or a percent of
decrease. Then find the percent of change. original: 76; new: 57

(Lesson 2-T) 19,
: = i 20 X Y
20. Express the relation {(-2, 1), (3, =1), (2, =2), (-2, 0)} as a mapping. ;
(Lesson 1-6)
21. Determine whether —6, =3, (0, 3 __. is an arithmetic sequence. If it is, state the
common difference. (Lesson 3-4)
22. Find the slope of the line that passes through (-2, 00) and (5, -8). (Lesson 3-3) 21.
22,
23, The Lopez family drove 165 miles in 3 hours. Wrile a direct variation
equation for the distance driven in any time. How far can the Lopez
family drive in 5 hours? (Lesson 3-4) 23.
24,
24. Write an equation of a line that passes through (-2, —1) with slope 3.
(Lesson 4-3) 25, ¥
25, Solve the system of inequalities by graphing. (Lesson 6-6) .-
x—y=4 5 =
x=-2y<4 1
26. Solve 12 + r < 15. Then graph the solution. (Lesson 5-1)
26. -—t+—+—t+—++++1++=
27. Define a vaniable, write a compound inequality, and solve the problem. —4-3-2-1 01 2 3 4

(Lesson 5-4)
Seven less than twice a number is greater than 13 or less than or equal
fo -3,

28. Three times a first number minus a second number equals negative forty. The 27.
first number plus twice the second number equals negative four. (Lesson 6-5)

a. Define variables and formulate a system of linear equations from this
situation, 284,

b. What are the numbers? 28h.
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